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QUESTION 1

What are the two minimum configurations of a disk group in a vSAN host? (Choose two.)
A. 1 SSD drive for the caching tier and 1 or more HDDs for the capacity tier

B. 1 SSD drive for the caching tier and 1 or more SSDs for the capacity tier

C. 2 or more SSD drives for the caching tier and 2 or more SSDs for the capacity tier

D. 2 or more SSD drives for the caching tier and 2 or more HDDs for the capacity tier
Correct Answer: AB

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.virtualsan.doc/GUID-
4B738A104506-4D70-8339-28D8C8331A15.html

QUESTION 2

After selecting an object in vRealize Operations, how can a user compare the badge values of related child objects?
A. Use the Scoreboard tab

B. Use the Relationship tab

C. Use the Members tab

D. Use the Overview tab

Correct Answer: A

QUESTION 3

An administrator receives a report that no real time statistics are available for a virtual machine in the
vCenter Server inventory.

Which two statements indicate likely causes of the problem? (Choose two.)

A. The virtual machine is powered off.

B. The host containing the virtual machine is disconnected from vCenter Server.

C. There is insufficient real time data to display the information.

D. The vCenter Server service is not running.

Correct Answer: AB
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QUESTION 4

What happens to the status of users already logged into ESXi Shell when a vSphere administrator enables lockdown
mode?

A. Users remain logged in and can run commands, except to disable lockdown mode.
B. Users remain logged in and can run commands, including disabling lockdown mode.
C. Users are immediately logged out of ESXi Shell.

D. Users are logged out after a timeout specified by the vSphere administrator.

Correct Answer: A

QUESTION 5

What two scenarios will prevent extending a VMDK that is attached to a powered on VM? (Choose two.)
A. VMDK has snapshots present.

B. VMDK is connected using LSI logic SAS controller.

C. VMDK is connected using IDE controller.

D. VMDK is running an unsupported Guest OS.

Correct Answer: AD
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